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properties can be found in Chap. 4 of
A. Pinkus and S. Zafrany, Fourier Series and Integral Transforms,
Cambridge, United Kingdom: Cambridge University Press, 1997.
A much more detailed treatment of integral transforms and their application to
science and engineering problems can be found in
B. Davies, Integral Transforms and Their Applications, 3rd ed. New York:
Springer-Verlag, 2002.
Stability and the Routh test are discussed in Chap. 5 of

K. Ogata, Modern Control Engineering, 4th ed. Englewood Cliffs, N.J.:

Prentice-Hall, 2002.
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More details regarding s-domain analysis of systems, use of Laplace
transforms, and properties of transfer functions can be found in:

K. Ogata, Modern Control Engineering, 4th ed. Englewood Cliffs, N.J..
Prentice-Hall, 2002.

A good discussion of various types of oscillator circuits can be found in:
R. Mancini, Op Amps for Everyone, 2nd ed. Amsterdam: Newnes, 2003.
and

G. Clayton and S. Winder, Operational Amplifiers, 5th ed. Amsterdam:
Newnes, 2003,
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